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B.Com. /B.Com (CS) DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — IV SEMESTER

Paper IX — CORPORATE ACCOUNTING — II
Time : 3 hours
           Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define human resource accounting.
2. What are accounting standards?

3. X Ltd which close its books on 31.3.2006 requests you to indicate how it Should deal with the changes in accounting policies noted below :

(a) Method of valuation of inventories was changed from first–in-first-out method to weighted average method during the year resulting in additional inventory value of 20 lakhs
(b) It was decided to provide for fall in the value of investment of `80 lakhs in the current year, though the fall occurred over tha past 4 years.

4. From the following particulars calculate the premium earned (net) to be derived in schedule 1 of a life insurance company 

                                                                 `
      

Premium less re-insursnce                 1,61,500

      

Accrued premium                                    5000

      

Bonus in reduction of premium               5000

      

(not yet adjusted)

5. Compute commission expenses to be derived in schedule 2 of a life insurance company

                                                                   `

Commission on direct business            93000

 





Commission on re insurance accepted 40000

            
Commission re-insurance ceded           50000





6. PRR bank Ltd. discounted a bill of the face value of `400000 for `390000 on jan.23,2001. Of the discount, `1600 was for the year 2001-02.  Pass journal entries at the time of discounting the bill, closing of accounts on 31-3-01 and opening entry for the next year 2001-02
7. On 31 st march, 1998 a bank held the following bills, discounted by it earlier .

	Date of bill 1998
	Term of bill
(months)
	Discounted @ % p.a
	Amount of bill
`

	(i)   January, 17

(ii)  February, 7

(iii) March, 9
	               4

               3

               3
	           17

           18

           17.5
	7,30,000

       14,60,000

3,64,000





You are required to calculate the rebate on bills discounted. Also show the necessary 


journal entry for the rebate.

8.
Define amalgamation 

9. 
Lee Ltd agreed to absorb bee Ltd by paying `1000000 to the shareholders in addition they agreed to settle 1000 8% debentures of ` 100 each in bee Ltd at 20 premium by issuing their own debentures of `100 each at 96. Ascertain the face value and actual issue value of debenture to be issued.

10.
What is liquidation of a company?


11.
Who is list ‘A’ contributory and List ‘B’ contributory?


12.

Calculate liquidator’s remuneration from the following particulars.

      
 Assets realised : `6,30,000 including cash balance: `30,000. Liquidatiors remuneration 2% on     

           the assets realized.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13.
Explain the objectives of human resource accounting system.
14.
The following information is given to you regarding ‘X’ Ltd.., for the financial year ended 31.3.1997

	
	1.4.96  `
	31.3.97 `

	Monetary assets
	80,000
	80,000

	Monetary liabilities
	1,00,000
	1,00,000

	Retail price index
	200
	200


 
Ascertain gain or loss on monetary items.
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15.
The life fund of a life insurance company on 31.3.2006 showed a balance of `54,00,000. However the following items were not taken into account while preparing the Revenue account for 2005 to 2006. Ascertain the correct life fund balance.


(a)
Interest and Dividends accrued on investments 


`20,000


(b) 
Income tax deducted at source on the above 


`6,000


(c) 
Reinsurance claims recoverable `7,000


(d) 
Commission due on reinsurance premium paid


 `10,000


(e) 
Bonus in reduction of premiums



 `3,000

16. 
On 31st March 1998, Bharat Commercial Bank Ltd., finds its advances classified as follows:                                         

                                                                `
         Standard assets



14,91,300


Sub standard assets
     


92,800


Doubtful Assets ( secured):



Dubtful for one year





                  25,660


Doubtful for 1 to 3 years




             15,640


Doubtful for more than 3 years



     6,580


Loss assets 







                                  10,350


Calculate the amount of provision to be made by the bank against the above mentioned advances.
17. 
Distinguish between Amalgamation, Absorption and External Reconstruction.
18. 
Raman Ltd., agrees to purchase the business of Krishnan Ltd., on the following terms:

(a) For each of the 10,000 shares of `10 each in Krishnan Ltd. 2 shares in Raman Ltd., of `10 each will be issued at an agreed value of `12 per share. In addition, `4 per share cash also will be paid.
(b) 8% Debentures worth `80,000 will be issued to settle the `60,000 9% Debentures in Krishna Ltd.
(c) `10,000 will be paid towards expenses of winding up.


Calculate the purchase consideration.

19. 
The following particulars relate to a limited company which went into voluntary liquidation:


                                                         
                                                   `
        
Preferential creditors






     25,000

 
Unsecured creditors    






   58,000

 
6% Debentures               






30,000

 
The assets realized  `80,000. The expenses of liquidation amounted to `1500 and the liquidator’s remuneration was agreed at 2[image: image2.png]


% on the amount realised and 2% on the amount paid to unsecured creditors including preferential creditors.


Show the liquidator’s final statement of account. 

SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20.
From the following balances extracted from the books of L.I.C as on 31.3.06, prepare a revenue account for the year ending 31.3.06 in a prescribed form:
	
	` (in ‘000)
	
	` (in ‘000)

	Claims by death
	3,30,000
	Life Assurane fund (1.4.05)
	63,31,000

	Claims by maturity
	2,15,000
	Premiums
	20,65,000

	Agent and Canvaser’s Allowances
	26,500
	Bonus in reduction of premiums
	1,000

	Salaries
	44,200
	Income tax on interest and dividends
	5,700

	Travelling expenses
	1,200
	Printing & Stationery
	13,900

	Directors’ fees
	8,700
	Postage & telegrams
	14,300

	Auditor’s fees
	1,000
	Receipt stamps
	2,300

	Medical fees
	52,000
	Reinsurance premiums
	40,950

	Rent
	2,800
	Interest & dividend (Gross)
	2,72,000

	Commission
	2,18,000
	Policy renewal fees 
	9,600

	Law charges
	200
	Assignment fees
	540

	Advertising
	4,300
	Endowment fees
	690

	Bank charges
	1,500
	Transfer fees
	1,400

	General charges
	2,000
	Surrenders
	47,500


Provide `1,500 Thousands for depreciation of furniture and `2,20,000 Thousands for   

depreciation on investment.
21.

The following figures are extracted from the books of Bheema Bank Ltd., as on 31.12.1987.

	Interest and discount received 
	36,95,738

	Commission, exchange and brokerage
	2,00,000

	Director’s fees and Allowances 
	55,000

	Postage and Telegrams
	62,313

	Stationery 
	17,625

	Preliminary expenses
	15,000

	Interest paid on deposit
	20,32,542

	Rent received
	55,000

	Salaries and allowances
	1,75,000

	Rent and taxes paid
	87,973

	Profit on sale of investment
	2,00,000

	Depreciation on building
	27,375

	Audit fees
	5,000


   
     Additional Information:

(a) A customer to whom a sum of `10,00,000 has been advanced has become insolvent . It is expected that only 50% can be recovered from his private estate.

(b) For the remaining debts, a provision of `1,50,000 was necessary.

(c) Rebate on bills discounted as on 31.12.1986 `12,000 and on 31.12.1987 `16,000.

(d) Provide `6,50,000 for taxation.
(e) Write off all preliminary expenses.

 


        Prepare Profit & Loss A/c in accordance with the law.

22. 



Sumeru Ltd., agrees to absorb the business of Vindhya Ltd., on the basis of following balance sheet as on 31st March 1998.

	Liabilities
	`
	Assets
	`

	Share capital:

  Authorised: 50,000 shares of ` 50 each

Issued and subscribed:

40,000 shares of `50 each

Called up and Paid up Capital:

40,000 shares of ` 50 each, 
` 30 called and paid

Reserves

Profit & Loss A/c

Creditors
	25,00,000


20,00,000


12,00,000

2,50,000

1,20,000

1,50,000
	Land & Buildings

Machinery

Stock

Investments

Sundry debtors               4,60,000

Less, Provision for 

Bad Debts                          20,000

Cash at Bank
	5,00,000

1,00,000

6,00,000

20,000

4,40,000

60,000

	
	17,20,000
	
	17,20,000


Sumeru Ltd., took over all the assets and liabilities of Vindhya Ltd.,  subject to the 
retension of  `30,000 cash to provide for cost of liquidation, and to satisfy any dissenting 
shareholders.

The consideration for the sale is the allotment of one share of `100 (`50 paid up) in 
Sumeru Ltd., for every two shares in Vindhya Ltd.  The market value of the `50 paid up 
share of Sumeru Ltd. on the date was ` 70 per share.

23.  
Given below is the Balance Sheet of XYZ Ltd. as on 1.8.1998 on which dates it goes into liquidation:

	Liabilities
	Rs.
	Assets
	Rs.

	Share capital:

  10,000 preference shares of `10 each, fully paid 

5,000 equity shares of `10 each, fully called ……….50,000

Less: Calls in arrears on

1,000 shares @ `1

Per share…………………1,000

10,000 equity shares of `10 each, `5 per share paid 

20,000 equity share of `10 each, `3 per share paid 

Secured loan from bank:

  Against pledge of stock of raw materials.

Unsecured dues:

  Preference……………….1,200

..Others……………….. 1,01,800
	1,00,000

49,000

50,000

60,000

38,000

1,03,000


	Cash at Bank

Stock of raw materials

Other stocks

Other assets

Profit & loss A/c (debit balance)
	5,000

50,000

1,50,000

1,45,000

50,000



	
	4,00,000
	
	4,00,000


The assets were realised as under:

(a) Stock of raw materials realised by bank – `30,000
(b) Other stocks  - `80,000
(c) Remaining assets – `20,000

  The liquidator is entitled to a fixed remuneration of `2,000 plus 2% of the gross amounts realised by him.  Other costs and charges amounted to `11,000. Equity shares carry same rights, regardless of the amount paid, as far as capital repayment is concerned.

Show the liquidator’s final statement of account.
                                                       ———————




[P.T.O.]








[P.T.O.]
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